Examination Practice Papers (Pearson IGCSE 9-1)
Paper 4
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1 The bearing of town P from town Q is 070"
Find the bearing of town Q from town P.

2 Expand these and simplity where approprate.

1Gr-d@xed) @4 r2
b Factorise these
i2m -ty iaEy -9 1 156y 22
© Simpliy these.
sy
iy i
yx ey Ty 22
3 a Write the number 37000000000 instandard form. ©
b Wiite 7.6x10* a5 an ordinary number m
 Galouiate the value of 25105 2

12510
Give your answer in standard form.

4 In the diagram, PAQ s the tangent at A to a circle with centre O. i

]

Angle BOC = 112°

Angle CAQ = 73"

Work out the size of angle OBA.

‘Show your working, giving reasons for any statements you make. -
Not crawn

accurtely C
a

5 Marco invests €1200 n Big Bark for three years at a compound

Interest rate of 256 per year.

He then moves all o this money into Smal Bark for 2 years at a

ompound interest ate of 3% per year.

Calculate Marco's percentage profit over the 5-year period correct to 3 significant figures
6 Solve the simutancous equations

[S]
o

7 I the diagram, POR is a straight fne and PO:QR = 2:3
OP=2a+5b
Od=da+b 2a+5b
Wite R in temns of a and b. Give your answer i its simplestform.
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8 The Venn diagram shows the sports played by a group of 80 students.
The thres most popular sports were tennis (), golf (G) and cricket (C).
Astudent is picked at random.

Work out
aPTnCnG) 2 ©PTIGUC)
BP(TNGNOM [E] 4P(GEC)

9 1 an arithmetic: rogression the 10th term is 39 and the Sth termis 19,
Find the

afisttemn b common difierence & 5um o ten terms.

anda=78205b=71+05andc=21205

athe maximum valve of y b the minimur value of y.
Give your answers coractto 2 signifcan figures.

M=
Find
age W by @ cthesoltond)ofx= o)

12 The sides of an equiatera triangle ABC and two regular polygons
meet at the point A
AB and AD are adjacent sides of a regular 10-sided polygon.
AG and AD are adjacent sdes of a egular n-sided polygon.
Work out the value of 1.

Dlagram NOT
accuratoly drawn

13 The lengths of the sides of a riangle are inthe rato of 4:5:6
“The perimeter ofthe riangleis 150cm.
Find the area of the triangle correct to 3 significant figures.

1 ABC is an equilateral triangle of side 8cm.
With the vertces A, B and C as centres, arcs of radius 4om are drawn
10 cutthe sides of the triangle at P, Q and R
The shape formed by the arcs i shaded.
Calculate the

a perimeter of the shaded shape in o to 1 decimal piace.
b area of the shaded shape n c 1o 1 decima place.
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15 a Copy and complete the table of values for y = 2° - T
o[ [ws]2 5 [a]s] )t i
v [ BT
00 a copy ofthe grid, craw the graph of b =
y=r-3for05srss @ s =
 Use your graph tofind an estimate for a i
Soluton of the equation .
#-3=0
@ Draw a suitable straight e on your graph to find o
an estimate for asolution of the equation
r-2e-3-0 2 i S
x 5
-10. .

16 The unfinished table and histogram show information about the weights, i kg, of some bables.

e o
2<w=35 50 H 4 i
45<ws6 H
g i |
e
b s i
ok gyt b
EER e
L ]
APB is a straight line. 9cm
h
a Use Pythagoras' Theorem to show that 1° - 30x + 4 @
s N
Give your value correct to 3 significant figures. 10em
—

accurataly draun
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18 A bicycle moves in a straight ine.
From a fixed point O, s distance, xm, f seconds lter is given by x
Find

‘2 when the bicycle s stationary
b the acceleration of the bicycle at (= 3.

BE

18 Thor s 48 bescs i a b,
Sor o e ascs s o e et o b rs e
Shanisgong o e o o o 1 5
T praaity it e vk 100 b0 3

‘2 Work out the number of red beads in the bag. @

Shan adds some red beads to the 48 beads in the bag.
‘The probabilty that she will take a red bead is now

b Work out the number of red beads she adds. ©

20 Aright regular square pyramid of base length  is shown.
Al'the four edges are also oflength x
Prove that
‘athe perpendicular height of the pyramid, h = &
perpen o pyrar 5

b the angle between an edge and the square base-

21 Afarmer wishes to put a fence around a rectangular fild with
‘one sida formed by a stone wall.
Ifthe total length of the fence Is 150, calculate the maximum area

and the value of  at which this occurs by using diferentiation. “

22 A solld metal sphere of radius  is meted down and recast
into a sold cicular right cone of base radius r and height .
Prove that he total surface area, 1. of the solid cone.
is given by A = 77 (1 4 /T7)

Total marks = 100




